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Z: 510 2DRE2S
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¥-p-8-2 O &t 28 0l a2 HDE2
= | 15,795,518 12,708,517 3,087,001
500 22 15,795,518 12,708,517 3,087,001
510 21253 S 11,547,615 10,042,307 1,505,308
511 202 x2S 11,547,615 10,042,307 1,505,308
511-01 2 D22 9,844,615 7,444,307 2,400,308
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<OMAMD > 9,844,615 7,444,307 2,400,308
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5,238
OMHHS oEst=E 4,549
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4,768,500
OZE MHI& X 2H Y|
1,000,000
OHOIE THSHABMEX T H bl AL 3,572,000
OFTXT Hl 110,000
OL® 8240 DA 8,000
OVYPIEXNAN S H2DS X2 255
ovgs 2y %A 108
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511-02 2N RH LTS LN LTS 1,703,000 2,598,000 895,000
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<AL > 1,703,000 2,598,000 895,000
OMOIZ A5HE =l 453,000
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OF=H Asa Hi| 367,000
OIS ABHE Rl 186,000
520 Al - GHIE X2 S 4,247,903 2,666,210 1,581,693
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N = 0l & At & M A

20198 &= =0la LB AL
AN AL D
M AaHy
SRl AEHF N L RN EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
otM A &t 50,315,366 34,362,125 15,953,241
= 9,844,615
s 1,703,000
< 4,247,903
s 34,519,848
Fal~R-L S| 260,318 258,614 1,704
AEEE N & sX2e 260,318 258,614 1,704
I3 A &2 21,076 18,932 2,144
201 Let24d] 13,300 13,100 200
01 At 22l 13,300 13,100 200
O=27Me & ot - E22e| 13,300
S 190,000& * 70A 13,300
202 044l 7,776 5,832 1,944
01 = LH o4 1l 7,776 5,832 1,944
O=3%A 2e2ge =& 7,776
StE a9 2te| 221,486 223,207 AT, 721
101 @124l 4,008 3,615 393
04 D12t 22 EE = 4,008 3,615 393
Octdg SHAAANLE) A2
66,800& * 2% * 30 4,008
201 Let2d] 13,410 14,120 AT10
01 At 22l 9,690 9,200 490
O=da3X A= 7,500
-8 =0 100,000& * 20& 2,000
~HXTH(2H) 250,000& = 2204 5,500
Osta =9 =g HE 170,000& * 1074 1,700
OAGtHEB2IRIASE FH2Y
70,0002 = 7H * 13l 490
02 2324l 3,720 4,920 A1,200
OSEdE H=2A& dIIR3
300,000& = 12& 3,600
Osdd =ZAM4 dJlea 10,0008 » 128 120
202 04l 4,068 5,472 A 1,404
01 =LHOIHI 4,068 5,472 A 1,404
OstaZAgR =& 4,068
401 Al HIZ 201 I 200,000 200,000 0
01 A& HI 200,000 200,000 0
OXedtdE == H A 200,000
nEE A 8,860 7,666 1,194
101 14l 8,860 7,666 1,194




5 - 4
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
04 JIZHHZ2XREES 8,860 7,666 1,194
O=& s A 8,860
-2y 66,800& = 102¢ 6,814
-AHEE =S 6,813,600& * 19.54% 1,332
—2HALH| 7,000& = 102¢ 714
XY HE Y =X 440 440 0
201 Let24dy] 440 440 0
01 At 22| i 440 440 0
OBETECE B2
55,000& * 2JH A& * 43| 440
o 2el 8,456 7,669 787
101 @14l 8,016 7,229 787
4 JI2ZtHZ22 a2+ 8,016 7,229 787
OLHHIN=SEN AR
66,800& * 2% * 60 8,016
201 Let24E] 440 440 0
01 At 22l 440 440 0
OE2Y SHNIHS HE #49
55,000& * 204 * 43 440
T2 HEH 6,942,924 4,601,524 2,341,400
= 110,000
< 30,000
e 6,802,924
o SEFE 3,700,000 200,000 3,500,000
argro|lz MYE=Z 1,000,000 0 1,000,000
401 Al HIZ 201 Y] 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
odtatolte Agez 24 1,000,000
SH-BSis T2EZHEIA 1,000,000 200,000 800,000
401 Al HIZ 2018 1,000,000 200,000 800,000
01 A& HI 1,000,000 200,000 800,000
Okd~-sks 2L Y 1,000,000
tel &= 2&15d MYz e 700,000 0 700,000
401 AIEHI L 201 700,000 0 700,000
01 A& Bl 700,000 0 700,000
OAlel &5 Z2&15d YT 2 IHA (1000m) 700,000
22 458 23| 500,000 0 500,000
401 Al HI K 2018 500,000 0 500,000
01 A& HI 500,000 0 500,000




2N

My C2 8uE
el 2 HEE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZE2x2&% 14548 T2 3| 500,000
28 TE-232 Z2Zl6sd BEEEX 500,000 0 500,000
401 A& HIZ 2018 500,000 0 500,000
01 A& HI 500,000 0 500,000
OZ2d TZ~822 21646 BEE & 500,000
sHEkz L1 E 1,929,000 1,000,000 929,000
=8 WHSIH AYE=Z 408,000 0 408,000
401 AIEHI L 20 408,000 0 408,000
01 A& HI 408,000 0 408,000
O==2d M2 &L 408,000
SHEZZ slE72(EX) 421,000 0 421,000
401 AIEHIZL 20 421,000 0 421,000
01 A& Hl 421,000 0 421,000
24 sHEZR 206588 == 420,000
OFFEH SHEZZ 30554 ==+ 1,000
Y Z2E sHEZZ ndxz | 200,000 0 200,000
401 AIEHI L 2 CHYI 200,000 0 200,000
01 A& HI 200,000 0 200,000
OZEd Z8 sHEEZ WEX=Z &l 200,000
=24 ¢35 sHEEZ #1% 400,000 0 400,000
401 AIEHI L 20 400,000 0 400,000
01 A& Bl 400,000 0 400,000
OS2 YT SUECE =BH 400,000
HE SHOIS 20 HE3A 500,000 0 500,000
401 Al HIZ 201 I 500,000 0 500,000
01 A& HI 500,000 0 500,000
O¢E 28X0t2 AW HM=(32m) 500,000
SR B 1,105,124 1,394,724 A 289,600
= 110,000
< 30,000
i 965,124
HelolIEs+29 Mo 300,000 80,000 220,000
= 110,000
e 190,000
401 A& HIZ 2018 300,000 80,000 220,000
= 110,000
fia 190,000
01 A& HI 300,000 80,000 220,000
ooglolEs+9 I 80,000




2N

By c2 sua
H?: E2RI EFAY (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
ONE0IEE 7Y HH(HEXSE W) 220,000
= 110,000
[ia 110,000
2 ¥ sHEEZZ FAES 504,624 1,137,724 A 633,100
202 oddl 5,724 5,724 0
01 = LH o4 1l 5,724 5,724 0
Oz =& 5,724
203 ¥ S =&l 900 1,000 A 100
03 AIF=AH =AY 900 1,000 A 100
OEZAM =& 900
206 M= Hl 18,000 18,000 0
01 =8l 18,000 18,000 0
OE2ZHd B2 XM 8,000
OE=ZodE AIEE THHM 10,000
401 Al HI & 28I 480,000 1,113,000 A 633,000
01 A& HI 480,000 1,110,000 A 630,000
Ozg 24 29546 2 &4 XI(45m) 50,000
O&H ws 2=25d %23 Udl(500m) 100,000
O2d 2E 295 d AFH I HI (40m) 50,000
ORXd =M 50,000
ORXE =+ 100,000
OWEHXE X & B 30,000
Oung B % 22 100,000
=& 2 SHEZZ M=K 243 20,000 30,000 A 10,000
401 Al Bl & 28I 20,000 30,000 A 10,000
01 A& HI 20,000 30,000 A 10,000
o=t & sHEZZ HEEX B43 20,000
Fdi2tel & Aol 220,500 147,000 73,500
201 L2l 139,000 119,500 19,500
01 At 22l 86,000 71,000 15,000
O&dlithl & =2283=23 S204
6,000& * 209 « 40 4,800
OFHIAX = 5,000
ONM&EEZE adXz
5,000,000& » 3CH = 3 & 45,000
ONMEE HAZ ReIAHAIAE KX
100,000 = 120 & 1,200
OE2:Y FAX 2= 30,000
02 3322l 53,000 48,500 4,500
OW=2l |Xtl 5,000
OAHEHI & 22d KA 5,000




2N
X ZH -
L= B
el

o
M- o9 (B H) - MEAY - BAS %Eﬁ HR=2
OJIHE KA 1,500
OBciaxZ) & HMED SXd 5,000
ODMHEI &K b 2,000
OYXN&EH (ME2EZ )2 Xl

1,500,000& = 3CH ~ 30 13,500
OEdH 222 HMAD SX22ll 15,000
OEZ2EL3 AIRA 2222
500,0008 * 120 & 6,000
206 M = Hl 10,000 10,000 0
1 MHZ bl 10,000 10,000 0
OEZAEHIE Y| (7E) 10,000
405 XHAHF S HI 71,500 17,500 54,000
01 AL 2 ZF S| 71,500 17,500 54,000
OEdHAE=Z HEII| 3,500,000 = 504 17,500
ORaZI|(1hER) 54,000,000 = 1CH 54,000
Logs32a M 60,000 0 60,000
o= 30,000
= 30,000
401 AIEHIZ 201 Y| 60,000 0 60,000
o= 30,000
= 30,000
01 Al&H| 60,000 0 60,000
OrEs3d A (4 24 60,000
& 30,000
= 30,000
E=Ra k=l = 200,000 2,006,800 A 1,806,800
Z2EIM g dE8MSH 200,000 2,006,800 A 1,806,800
401 AlEHIZ £ 0HY| 200,000 2,006,800 A 1,806,800
02 2teld| 200,000 0 200,000
OZ2EIM g2 HH Zel 200,000
& SAHEHET HE 8,800 0 8,800
SE2H SHNEUET HEAY 8,800 0 8,800
201 LBt Y| 1,600 0 1,600
01 AP 22| d| 1,600 0 1,600
OEH EUET AH -2z Y 39 1,600
203 & 2 =&t 7,200 0 7,200
03 Al ZH =X 2= XH| 7,200 0 7,200
OHEANY AIZFZ 7,200
A2 HOYAE 10,717,179 6,092,850 4,624,329
A2 XSEMEAS 10,717,179 6,092,850 4,624,329
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AN AL D

Hu: ARQ AL

SR AFD NSNS A (&)

SA - BB B () - MM - BES Ol &t o San HmEET
O8d &H ==L Z(330m) 60,000
OF® 0l Jttad Mgz I N =27](2200m) 100,000
OFA HE Otserd XA =27](2000m) 100,000
OX® 2H2 &=L 0rA2X M =2I](700m) 60,000
OFA Ao Jt3 OtA2H M 2I](520m) 80,000
OF& &8 M&E ZHl(180m) 140,000
OFA 242 == FHl(170m) 70,000
OFA Al 02 =2 &l (200m) 35,000
OFA Al OS2t OrA 2 X 2] (700m) 55,000
OFA & s=22F L A& ZHI(120m) 50,000
OFA DY =22 F 2 =2 F Hl(100m) 50,000
OFA AtE M& Hdl(55m) 60,000
OFA MZ2 AFH ZHI(35m) 50,000
OFA 2E2 =2&& 2 =2 &l (110m) 40,000
O =&1 M&E ZHl(240m) 100,000
OOt 252 2 &X(4m) 80,000
OFor &1 &H &X(4m) 80,000
OFOF &2 =2 X &(350m) 100,000
OFor A3 =2 AHF Ul (15m) 50,000
OHor =& =2 & X (250m) 50,000
O#et 3¢ =2 & X (430m) 40,000
OFot T& OtAZINR) 2 Jteag &x(
430m) 40,000
OAtel &g o2& g2 &4l (100m) 50,000
OAtel 23 MI& FHdl(150m) 70,000
OAtel 8¢ 221 Fdl(5m) 120,000
OAMel =& =2 ZZ(250m) 40,000
OAtel 25 24 A XI(5m) 60,000
OAtel ZS1 A& Zdl(140m) 60,000
OAtel Zs2 M&E Zdl(120m) 60,000
OAtel &= 0tSetd OotA 2 X & (400m) 50,000
OAtel &8 221 F4l(5m) 60,000
OA 42 =22 & 2 Hi+==Z 4 X (190m) 50,000
Oz 22I3 24 xl(50m) 60,000
Oizx 2H2 21 & (5m) 60,000
O=2% &3 M& FHI(100m) 50,000
O=2% M= M& Zul(150m) 150,000
O23%d ot2 MY Hdl(70m) 50,000
O2% A2s 0222 I M =2((800m) 50,000
O23d =& UMY AFH I HI(50m) 30,000
O2REAE RAE=HI 200,000
03 A2 204 18,190 12,850 5,340




B SR (B) - KIRAY - BES Ol &t o San HmEET
OFoU=3A ANL2UH 18,190
ore=Xaa A 2 B4 617,900 617,900
402 BIZEXHE 0 A 617,900 617,900
01 U2 E2AILE X (KA 617,900 617,900
O&HZH (1000 2) 70,000
QU &2 OtS3l& A F 150,000
Ol 24 OS2l 25 16,000
O&d =& 23 &= 180,000
O&o 232 0tSs3& B 21,900
O=& Jts Os3l& &= 180,000
A2AE Tl =2 (XHA) 3,051,089 3,051,089
401 Al HI K 2018 3,051,089 3,051,089
01 A& Bl 3,051,089 3,051,089
QU M sHHEZZ ol =+ (5m) 10,903
OZE &4%& M&E Mol = (55m) 30,136
OZ2 =& MH& THol=+(40m) 37,627
OZzs 2Xa ME o=+ (180m) 70,646
Ozg UHas =2 MaH=7(520m) 133,667
OFAH &2 N THoH=+(230m) 118,583
OFA =& M& THdH=-(400m) 62,072
O2% &4 N& Tdoi=-(230m) 173,277
O=zg &2 M&E MHoil=+(128m) 35,752
Oz 2% MA Toi=(180m) 30,288
O=2Z o= M&E Mol == (163m) 70,303
O2Z Ht-4& M& ol == (302m) 60,538
OX® 0l =2 THoi=-7(30m) 47,490
OFHA X& oHsHE o= (150m) 39,269
OF& XZ JIZ2HME Mol = (170m) 88, 122
OF® A M& THaoH==(200m) 102,693
OFA 0l%® = NE Tl =+(200m) 73,511
OX® IE M THoh=-(90m) 49,086
OXF B HME Toh=-(20m) 35,996
OFHA AFZFH ME THoH = (450m) 112,368
OFA K& M THdH=(80m) 45,430
OF&® D4 N&E Toi==(160m) 68,636
OFA &8 M THoHl=+(350m) 57,245
OFeor &2 =2 Mol = (245m) 115,236
OFOo 24 Hgw MaH=(250m) 51,754
OFot 241 A THH=7(95m) 46,094
OFOF A3 AIA THaH=(120m) 46,862
Ot =&1 HelME MaH==(100m) 52,079




2AN: AL D
HEM: ARD HOYAIY
Sl AR NHHLAY (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFOot 28 M& THol =5 (200m) 89,884
OAtel 22 HI& THol =3 (500m) 133,186
OAMel 52 H&E THoll = (400m) 41,110
Oaz otz 0tSoH2 Wl =2+ (110m) 42,541
Oz o= HI&E THoH = (200m) 42,332
OAz% 283 A& THoH=(80m) 30,692
OAZ4 2AIZIZ2 ME THol 23 (150m) 126,019
OA% S0t= MA THoHE 2 (120m) 40,905
OAazx "HEZ MAE Mol=F2(157m) 52,358
Oaz 22Ul MAE o= (113m) 57,058
Oazx A MHAE2 THH = (200m) 32,724
O2%= 2& MH&E2 Toll==(300m) 73,511
Oazx 2 M&1 THoH = (300m) 97,840
Oaz= A2 HAE THOH = (300m) 49,086
OAz% ME SSAHAE =7 (150m) 29,452
OA4 dY DASIAE Mol =3 (150m) 73,511
O=d XN&E H&E THol == (300m) 143,179
O=2E85 A Taol=32(10m) 30,038
=& Q)| o228z SEE 500,000 0 500,000
1 A& 8 20| 500,000 0 500,000
01 A& HI 500,000 0 500,000
O A1 Dtsdgdz ST E 500,000
HAE Ol g s 500,000 0 500,000
401 Al HI L 2 0HHI 500,000 0 500,000
01 A& HI 500,000 0 500,000
OFA 0lg U H=s 500,000
FRQAHAEAIGE A9 560,000 0 560,000
401 AIEHIL 20| 560,000 0 560,000
01 Al&Z bl 560,000 0 560,000
OdZE 22 =2 HHdI(320m) 50,000
OHE A& =2 &XI(750m) 150,000
OHZE M DISotAZ2 M2 (1500m) 80,000
OFHA AN OLA2 M2 (2600m) 110,000
O A2 =22 & =2 A H|(250m) 60,000
OE3F JIs 0tS0tA 2 M 2] (2600m) 110,000
ot & Zl 1,745,500 140,000 1,605,500
< 1,355,000
= 390,500
St &8H & SX 2 1,745,500 140,000 1,605,500
< 1,355,000
= 390,500




AN ALY
g ofd &l
¢el: otEAH L K2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Aot |2l 100,000 100,000 0
401 Al HI K 201 I 100,000 100,000 0
01 A& Bl 100,000 100,000 0
OXgstd sXlz2el 100,000
Aeota A2l (=) 1,355,000 0 1,355,000
= 1,355,000
401 Al HIZ 201 Y] 1,355,000 0 1,355,000
= 1,355,000
01 A& HI 1,355,000 0 1,355,000
OXgsotd sXzel 719,000
< 719,000
Ogd KA 336,000
< 336,000
OFEd HeXx sXel 300,000
< 300,000
ALsta Fol 80,000 35,000 45,000
401 Al HIZ 201 8I 80,000 35,000 45,000
01 A& HI 80,000 35,000 45,000
OFA 2™ XLast& Al(150m) 80,000
=2 3| 5,000 5,000 0
401 AIEHI L 2CHYI 5,000 5,000 0
01 A& tl 5,000 5,000 0
O==23Hl 5,000
Keota THohs2(AHA) 205,500 0 205,500
401 Al HI K 201 I 205,500 0 205,500
01 A& HI 205,500 0 205,500
Oogaa Mai=s+2 205,500
THet - THOHCH 2 S22 29,071,539 21,546,116 7,525,423
= 9,460,287
s 1,703,000
< 2,858,148
e 15,050, 104
THHCH 2 2te| 638,052 365,765 272,287
= 9,787
< 17,718
s 610,547
Mo 22 @ Meadesd 24 53,452 78,668 25,216
201 ¢er24] 36,988 38,348 A 1,360
01 At 2t 2l 30,050 31,410 A 1,360
OSEANBZEH DS ALY
400,000& = 13 400
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OXNSLEHN YHES OFAHI 84,140
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7,0009 * 49 » 3652 « 140HCH = 1/2 71,540
-0 X
7,000% * 4% « 1502 « 6OHCH = 1/2 12,600
OXsgd8l 294l 42,570
-2 X 2,475,000& = 1470 CH 34,650
- Xt 1,320,000& = 6IHCH 7,920
307 glz2+ol & 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
OUFEN NELHUAEH SOISH=EHE
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02 YAFHAANGEEE 5,500 3,000 2,500
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